
ECHNICAL INFORMATION

For Models

Country

Description

T 69915

Subject

Current part New part NoteQ'ty

1

1

1

1

Item No.

052

052

052

085

086
096

I/CQ'ty

1

1

1

1

2

1

Implementation

Interchangeability(I/C)

Interchangeability mark ;
The arrow           means that the new part can be substituted for the current.

Current New

Change of Blade Case Complete, etc.

LS1013, LS1013F

Blade Case Complete
151469-2
Blade Case Complete
151470-7

Hex. Bolt 
M10x130

Flat Washer 10

Blade Case Complete

All countries except Canada, U.S.A., Brazil, Chile, Mexico, Panama

1) Blade case complete has been changed. New Blade case complete has a threaded hole for
     Hex. socket head bolt M6x10.
2) Hex. bolt M10x130, Flat washer 10 and Hex. lock nut M10x17 have been eliminated.
3) Hex. socket head bolt M6x10 has been added.
4) Although a new blade case complete has a threaded hole, part number remains the same. 
    Distinguish a new blade case complete from a current one by its threaded hole.

Blade Case Complete

Flat Washer 10
Hex. Lock Nut 
M10x17

Hex. Socket Head Bolt M6x10

Threaded hole for 
Hex. Socket Head Bolt 
M6x10

Blade Case Complete
151969-2

Blade Case Complete
151469-2
Blade Case Complete
151470-7
Blade Case Complete
151969-2

1052 1
Blade Case Complete
151471-5

Blade Case Complete
151471-5

251961-9
LS1013:166
LS1013F:168

Hex. Socket Head Bolt M6x10

Hex. Bolt M10x130
265406-1
Flat Washer 10
253024-7
Hex. Lock Nut M10x17
252130-5

To be implemented from February 2004 production

095

Note

Current Blade case complete must be used with Hex. bolt M10x130, Flat washer 10 and Hex. lock nut M10x17.

With English caution
label

With Chinese caution
label
With German caution
label

With English/French
caution label


